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SGCP: Syntax Guided Controlled Paraphraser
Use Syntactic Tree Structure to Guide Paraphrase Generation model
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SGCP Objective
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SGCP Objective

ℒ = −
1
T

T

∑
t=0

[log ℙ(z*t ) + at log(pt) + (1 − at)log(1 − pt)]

at pt: Signalling vector, : Transition probability,
T : Generation Time-step, z*t : Ground Truth token
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Dataset Statistics

Triples (Sentence, Exemplar, Reference)

Train* Dev. Test 

ParaNMT-small 4,92,878 500 800

QQP-Pos 1,37,185 3000 3000

* During Training: Exemplar = Reference Paraphrase
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